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a) x[n] = sin (Zn +7%)
b) x[n] = cos (3n) cos (Z-n)
¢) x[n] = 1+ cos (=n)
d) x[n] = cos (3n) + 3Sin (n)
e) x(t) = 1+ 2cos (¢ +X) + sin 2¢
f) x(t) = cos(4mt) sin(4mt)
g) x(t) = cos (3t) + 3Sin (5-n)

h)x(t) =et -1<t<1
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y(t) = x(1 + 2t) (I
y) =x*t—-1) o
A yg) sy A = 1, Y () = x*(3t —2) (z
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y[n] = x*[n] (i
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dy

—+ 4y(6) = x(t)
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x(t) = cos(4mt)
y(t) = sin(4mnt)
z(t) = x(®)y(t)
Sale [ x(8) s 2,98 6wl o (A
el V() s 298 s o (0
2,98 Sy nlpd  Oloy 40 dign 4598 (G 0 pd St 5 o g Al oo i sl el b (g
el 1, 2(8) = x(O)y (1) &
o by bl g 2yl cass a4 Slilie &g 4 Z(t) Lo b Lo !)Z(t) G Q0,88 (S ol o (0



